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Acgélération
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Mi | HS) | x(m) | y(m) | v ws) | v, (ms) | v(mis) | a,(mis?) | a,(mis°) | a(mis?)
1 0 0 0 | 256 | 410 | 483 | 0 | -9.6 | 9.6
2 | 0.05 0.12] 0.19 | 2.56 | 3.62 | 443 | 0 | -9.6 | 9.6
3 | 0.1 [0.25] 035|256 | 314|405 0 | 9.6 | 9.6
4 | 0.15 1 0.38] 0.50 | 2.56 | 2.66 | 3.69 | 0 | -9.6 | 9.6
5 02 [0.50] 0.62 | 256 | 2.18 | 336 | 0 | -9.6 | 9.6
6 | 025 0.64] 0.72 | 2.56 | 1.70 | 3.07 | 0 | -9.6 | 9.6
7 | 03 10.76] 0.79 | 2.56 | 1.22 | 2.83 | 0 | -9.6 | 9.6
8 | 0.35 [0.89] 0.84 | 2.56 | 0.74 | 2.66 | 0 | -9.6 | 9.6
9 | 0.4 |1.02] 0.86 | 2.56 | 0.26 | 257 | 0 | -9.6 | 9.6
10 | 0.45 | 1.14| 0.87 | 2.56 | -0.22| 2.57 | 0 | -9.6 | 9.6
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11 0.5 |1.27| 0.84 | 2.56 | -0.70 | 2.65 0 -9.6 | 9.6
12 | 0.55 | 1.40| 0.80 | 2.56 | -1.18 | 2.82 0 -9.6 | 9.6
13 0.6 |1.53| 0.73 | 2.56 | -1.66 | 3.05 0 -9.6 | 9.6
14 | 0.65 | 1.66| 0.63 | 2.56 | -2.14 | 3.33 0 -9.6 | 9.6
15 0.7 |1.78| 0.52 | 2.56 | -2.62 | 3.66 0 -9.6 | 9.6
16 | 0.75 | 1.91| 0.37 | 2.56 | -3.10 | 4.02 0 -9.6 | 9.6
17 0.8 |2.04| 0.21 | 2.56 | -3.58 | 4.40 0 -9.6 | 9.6
18 | 0.85 |2.18| 0.00 | 2.56 | -4.06 | 4.79 0 -9.6 | 9.6

X (m)

resultats — variation en fonction du temps
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resultats — representation des vecteurs
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